MATHS

BOOKS - MBD MATHS (ODIA ENGLISH)

INTEGRATION

Question Bank

1. Integrate the following : /Zdw

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Db2wxnZO8bkd

2. Integrate the following : ﬁ’)wzda:

o Watch Video Solution

3. Integrate the following : /élw?’da:

o Watch Video Solution

4. Integrate the following : /ac5d:c

o Watch Video Solution



https://dl.doubtnut.com/l/_pnuLR3KbUpF8
https://dl.doubtnut.com/l/_nB19pnJ326Bs
https://dl.doubtnut.com/l/_Efgk9OEBbPSq

5. Integrate the following : fc?’ldaj

o Watch Video Solution

6. Integrate the following

/(zﬁ+ %)d:p

o Watch Video Solution

dzx

1
7.Integrate the following : /
T/ T

l @ Watch video Solution


https://dl.doubtnut.com/l/_8tmWxz35hoqI
https://dl.doubtnut.com/l/_duFvT1P7TW3Y
https://dl.doubtnut.com/l/_5cxfbVbn8yVg

1
8. Integrate the following : /(33% + )daz

1
€T3

o Watch Video Solution

4
9. Integrate the following : /(—) dx

T

o Watch Video Solution

3 1
10. Integrate the following : /( 5 T 0 )d:c
x x

f ) |


https://dl.doubtnut.com/l/_5cxfbVbn8yVg
https://dl.doubtnut.com/l/_v2IhJ7mKrbHA
https://dl.doubtnut.com/l/_tdLtLCttrYsD
https://dl.doubtnut.com/l/_kAQm9A7JO80j

o Watch Video Solution

1. Integrate the following : /(:c2 + \/E)2d:c

o View Text Solution

12. Integrate the following

/(a: +3)(2 — z)dz

o Watch Video Solution



https://dl.doubtnut.com/l/_kAQm9A7JO80j
https://dl.doubtnut.com/l/_UsgE426pS22K
https://dl.doubtnut.com/l/_Sz81FLNjPhdo

(Ve +2)°

13. Integrate the following : / 7 dx
T
° View Text Solution
14. Integrate the following
/(a; + vz)(2z + 1)
> dx
x

o View Text Solution

15. /cos xdx

l o View Text Solution



https://dl.doubtnut.com/l/_Ja24MD4yaIde
https://dl.doubtnut.com/l/_myRtng7HSmis
https://dl.doubtnut.com/l/_P1qgTi4SlGge

dzx
16. /
cos? x

o View Text Solution

17. / dz
1 — cos?x

o View Text Solution

sin x
18. / dx
cos? x

l o View Text Solution


https://dl.doubtnut.com/l/_P1qgTi4SlGge
https://dl.doubtnut.com/l/_cggdp1ZZrblj
https://dl.doubtnut.com/l/_TG7f2y9S4Zn8
https://dl.doubtnut.com/l/_2mN8hdT9z59w

2cosx
19./ dz
1 — cos2z

° View Text Solution

—_— ] 3
20. /1 "~ Zda
sin“ x

° View Text Solution

sin?
21. / dx
1+ cosx



https://dl.doubtnut.com/l/_2mN8hdT9z59w
https://dl.doubtnut.com/l/_4uFRCRTcOyZN
https://dl.doubtnut.com/l/_2hhky3GZPO2t
https://dl.doubtnut.com/l/_oUEOIxZmV6U8

| ' View Text Solution

COS 21
22. / - dx
cCosx + sinx

° View Text Solution

4 . 4
cos*xr — sin” x
23. - dx
COST — sinx

o View Text Solution

cos 2x
24. |— 5 dx
sin”“ x X cos2 x

| oo


https://dl.doubtnut.com/l/_oUEOIxZmV6U8
https://dl.doubtnut.com/l/_w9F29SRpzGhl
https://dl.doubtnut.com/l/_BSYwL2WsVRRc
https://dl.doubtnut.com/l/_XHBUjVsjb1pt

| & View Text Solution

dzx

25 /a2 sin?z + b? cos?

sin? x

° View Text Solution

26. /(tana: + cot z) da

° View Text Solution

1 — cos2x
27. / dx
1+ cosx

[


https://dl.doubtnut.com/l/_XHBUjVsjb1pt
https://dl.doubtnut.com/l/_Tv0HY3vmgh2E
https://dl.doubtnut.com/l/_NNS1RjtVVDv7
https://dl.doubtnut.com/l/_2JLbXN5cQGc6

I D View Text Solution

28. /(sec2 2. COS ec2a:) dx

° View Text Solution

. 3 3
asin"x + bcos® x
29./ 5 dx
sin® x cos? x

o View Text Solution

30. /\/1 + sin2zdzx

f


https://dl.doubtnut.com/l/_2JLbXN5cQGc6
https://dl.doubtnut.com/l/_WNsDyPrcFK8a
https://dl.doubtnut.com/l/_1n7qIroSWUaQ
https://dl.doubtnut.com/l/_e6ZmTZC5JUpU

View Text Solution

31. /\/1 — cos 2zdx

o View Text Solution

32. /\/1 + cos 2zdzx

o View Text Solution

33 / CcoS 3x cos 2x -+ sin 3x sin 2x

1 — cos?

dzx



https://dl.doubtnut.com/l/_e6ZmTZC5JUpU
https://dl.doubtnut.com/l/_Ve0ldxqkS74k
https://dl.doubtnut.com/l/_lOlV2rWp2Fit
https://dl.doubtnut.com/l/_zhVbtNrbCARY

o View Text Solution

34, /(e“" + 2)dx

o View Text Solution

35. ﬁ’)w dx

o Watch Video Solution

36. /a,“zda;

f


https://dl.doubtnut.com/l/_zhVbtNrbCARY
https://dl.doubtnut.com/l/_tm2WCl1Ch3iv
https://dl.doubtnut.com/l/_GQjhI8r0tZy5
https://dl.doubtnut.com/l/_Kns8wsFYvXNE

o View Text Solution

37. /a?’“’ dx

o Watch Video Solution

2x
38./6 1 e

ex

o Watch Video Solution

7

5
39./ + dx
V1i—a22 1+z?



https://dl.doubtnut.com/l/_Kns8wsFYvXNE
https://dl.doubtnut.com/l/_UNDikQm5wTwr
https://dl.doubtnut.com/l/_TYOOMHuOMM20
https://dl.doubtnut.com/l/_h2L7AbBGXfys

° Watch Video Solution

2
40./ 3z dzx
x2 +1

° View Text Solution

2
5 T
41./( 1 —=x —I—m>dw

o View Text Solution



https://dl.doubtnut.com/l/_h2L7AbBGXfys
https://dl.doubtnut.com/l/_HnRwzhGhvBvM
https://dl.doubtnut.com/l/_ZpWtgOM3oX8O

2 VT,
x3y/x?2 — 1

42.

o Watch Video Solution

43. Find the unique antiderivative F(x) of

f(z) = 2z + 1, whese F(0)=-2.

o View Text Solution

44.Integrate the following /sin 3xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_Pe6IGVwGP8mV
https://dl.doubtnut.com/l/_ERefCgHgsqiw
https://dl.doubtnut.com/l/_DfGdxvFAoARY

45, Integrate the following /cos axdz

o View Text Solution

46. Integrate the following /(:08(2 — Tz)dx

o View Text Solution

47. Integrate the following /&;in(%)dm

o View Text Solution



https://dl.doubtnut.com/l/_DfGdxvFAoARY
https://dl.doubtnut.com/l/_Usr7MVxXaTIu
https://dl.doubtnut.com/l/_cUQPI0TDjtdO
https://dl.doubtnut.com/l/_ISFS9ilavBdC

48. Integrate the following /sec2(4zc)da3

o Watch Video Solution

49, Integrate the following /cos ec? (%)da:

o Watch Video Solution

50. Integrate the following

/sec(a: + 2)tan(x + 2)dx


https://dl.doubtnut.com/l/_ISFS9ilavBdC
https://dl.doubtnut.com/l/_MlRLEpOJiAHw
https://dl.doubtnut.com/l/_vl7gF9y8j9Zd
https://dl.doubtnut.com/l/_nXubrpeMeNaR

° Watch Video Solution

51. Integrate the following

/cos ec(m + %)cot (a; + 2 )dm
-3

° Watch Video Solution

52. Integrate the following fv cos z°dx

° Watch Video Solution



https://dl.doubtnut.com/l/_nXubrpeMeNaR
https://dl.doubtnut.com/l/_7LkzZhWMDeSk
https://dl.doubtnut.com/l/_FCCZY8qIr3qP
https://dl.doubtnut.com/l/_HVMaAWBHKMV2

53. Integrate the following /ewsec e“tane®dr

€ =z

o Watch Video Solution

ec? \/x
54.Integrate the following /s—\/_dw
T

° Watch Video Solution

55. Integrate the following /sin:z: cos xdx

(sinx=v)



https://dl.doubtnut.com/l/_HVMaAWBHKMV2
https://dl.doubtnut.com/l/_vs8kDrYIO2AI
https://dl.doubtnut.com/l/_Q3ilTcNY4hoT

Watch Video Solution

56. Integrate the following /ca,n3 T sec’ xdx

(tanx=v)

° Watch Video Solution

COS 662 T

57. Integrate the following /1 T oot dx
ot x

° Watch Video Solution



https://dl.doubtnut.com/l/_Q3ilTcNY4hoT
https://dl.doubtnut.com/l/_yWXwoYOaxoVQ
https://dl.doubtnut.com/l/_g4MEVSzleu7B

sin

dzx

58. Integrate the foIIowing/ ;
coSs®

o Watch Video Solution

COosS T

dx

59. Integrate the following /
sin®

o Watch Video Solution

os ec?(Inz)

C
60. Integrate the following /
T

dx

° Watch Video Solution



https://dl.doubtnut.com/l/_5MiqX5CykBUw
https://dl.doubtnut.com/l/_qZN9lXBGAzB9
https://dl.doubtnut.com/l/_Mr6763gtfiIS

61. Integrate the following

/\/1 — sinz cos zdx

o Watch Video Solution

62. Integrate the following

/E( x> —|—3d:c(a:2 + 3 = v)

o Watch Video Solution

dzx

63. Integrate the following /2 73
— 3z

f ) |


https://dl.doubtnut.com/l/_5lFpqZNBILHr
https://dl.doubtnut.com/l/_KqfLXeBHrJus
https://dl.doubtnut.com/l/_eJ3dIsQugQDH

o Watch Video Solution

64.Integrate the following a
Va2 — a’dx
° Watch Video Solution
65. Integrate the following

z? +1
- 3das
(3 4+ 3z + 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_eJ3dIsQugQDH
https://dl.doubtnut.com/l/_5kqlWTmlpZik
https://dl.doubtnut.com/l/_QwZIG1baEZ0L

66. Integrate the following

/(:1:4 — 3z + 1)4(2:133 — 3:13)da:

° Watch Video Solution

67. integrate the following /93””daz

° Watch Video Solution

68. integrate the following /e2w+7dw

° Watch Video Solution



https://dl.doubtnut.com/l/_0o56fyPtGChQ
https://dl.doubtnut.com/l/_TbNWb9KUpHJa
https://dl.doubtnut.com/l/_N3se8HRMDADB

69. Integrate the following /B%d:c

o Watch Video Solution

70. Integrate the following /ea’3:132dw

o Watch Video Solution

71. Integrate the following /0L2“"d:1;

o Watch Video Solution



https://dl.doubtnut.com/l/_N3se8HRMDADB
https://dl.doubtnut.com/l/_uOGHf5ikszDW
https://dl.doubtnut.com/l/_emAyQ1pzKCe7
https://dl.doubtnut.com/l/_Nqu4tYm3yv9l

72. Integrate the following /Zam2a:dx

o Watch Video Solution

73. Integrate the following /eztan’” sec’ zdx

o Watch Video Solution

74. Integrate the following / 5 dx
(e —2)

o Watch Video Solution



https://dl.doubtnut.com/l/_Nqu4tYm3yv9l
https://dl.doubtnut.com/l/_7PClfKsJHHqA
https://dl.doubtnut.com/l/_Pje8QH5ijd7W
https://dl.doubtnut.com/l/_LHA4aA65xICn

2

75. Integrate the following /ecos ¥ sin 2zdx

o Watch Video Solution

1

sin” "
76. Integrate the following / dx
V1 — 2

o Watch Video Solution

dzx

77. Integrate the following /
1— (z—1)°

| =


https://dl.doubtnut.com/l/_LHA4aA65xICn
https://dl.doubtnut.com/l/_1nloc3pSPzYG
https://dl.doubtnut.com/l/_46ok6TzRKc4X
https://dl.doubtnut.com/l/_LFkIHbgrUybs

I | & Watch Video Solution

(sec_ 1 :c) 2d:13

zvx? — 1

78. Integrate the following

° Watch Video Solution

d
79. Integrate the following / -
T (1 - (Inac)z)

o Watch Video Solution

d
80. Integrate the following / d
z? + 2r + 2


https://dl.doubtnut.com/l/_LFkIHbgrUybs
https://dl.doubtnut.com/l/_qaZ2ZvCpZGJf
https://dl.doubtnut.com/l/_owjBLV39fyjv
https://dl.doubtnut.com/l/_PXLUppqjq71I

° Watch Video Solution

d
81. Integrate the following /—w2 + 1
(z+1)

° Watch Video Solution

82. integrate the following fcan 3zdzx

° Watch Video Solution

8. Integrate the following /cos (%)dm


https://dl.doubtnut.com/l/_PXLUppqjq71I
https://dl.doubtnut.com/l/_dHLCl86q9bFj
https://dl.doubtnut.com/l/_7Sekbu8XqZeA
https://dl.doubtnut.com/l/_7qjo2Spwx6wW

° Watch Video Solution

84. Integrate the following /sec(2:c + 1)dz

° Watch Video Solution

85. Integrate the following /cos eclxdx

° Watch Video Solution

86. Integrate the followingfz.’n cot (2132 + 3) dx


https://dl.doubtnut.com/l/_7qjo2Spwx6wW
https://dl.doubtnut.com/l/_lIDFeJLvSfkl
https://dl.doubtnut.com/l/_HellfXdo4J1k
https://dl.doubtnut.com/l/_2u24uqA5KrX5

° Watch Video Solution

87. Intergrate the following /e“’tan e“dx

° Watch Video Solution

88. Integrate the following /sec(Zx — 3)%dx

° Watch Video Solution



https://dl.doubtnut.com/l/_2u24uqA5KrX5
https://dl.doubtnut.com/l/_673QGoOhlBJz
https://dl.doubtnut.com/l/_QLgFkws1xN1n
https://dl.doubtnut.com/l/_uKg6m3ZWEN8X

° Watch Video Solution

90. Integrate the following /i’;xezwdm

° Watch Video Solution

dx

o1 /(33 + 1)In(z?® + 2z + 2)
. z? 4+ 2z + 2

o Watch Video Solution

sin x
92. / , dx
sin(z + «)


https://dl.doubtnut.com/l/_uKg6m3ZWEN8X
https://dl.doubtnut.com/l/_saglZWrlsK44
https://dl.doubtnut.com/l/_kGLPL7bXWDOU
https://dl.doubtnut.com/l/_GksVlO2nrXi7

° Watch Video Solution

sin
93./
cos(z — a)dz

° Watch Video Solution

94 dzx

tanx + tana
" [tanx — tana

° Watch Video Solution



https://dl.doubtnut.com/l/_GksVlO2nrXi7
https://dl.doubtnut.com/l/_gP571QykcnJt
https://dl.doubtnut.com/l/_NayZCRaJoayh

95. Intergrate the following:

/sin 4x cos 3xdx

o Watch Video Solution

96. Intergrate the following:

/cos Ha cos 2xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_zPmItyzz2hQp
https://dl.doubtnut.com/l/_b575VkHZFMzc

97. Intergrate the following:

/sin x cos dxdx

o Watch Video Solution

98. Intergrate the following:

/sin 6x sin 3xdx

o Watch Video Solution



https://dl.doubtnut.com/l/_wbxHqHShTFci
https://dl.doubtnut.com/l/_VQmiZ2aO8gM3

99. Intergrate the following:

/cos 4x cos Hx sin 2xdx

o Watch Video Solution

100. Intergrate the following:

Jon (5 )cos (5 )z

° Watch Video Solution



https://dl.doubtnut.com/l/_w9GEgPrCA9Qm
https://dl.doubtnut.com/l/_bp0Moz9TXyRN

101. Intergrate the following:

/cos 2x cos (%) dx

o Watch Video Solution

102. Intergrate the following:

in()on( 2 (2

o Watch Video Solution

103. /0082 xdx

f


https://dl.doubtnut.com/l/_vNHFd0qkOtje
https://dl.doubtnut.com/l/_qNTXUk5IwKp7
https://dl.doubtnut.com/l/_oANwpzYxVq9p

o Watch Video Solution

104. /sin3 xdx

o Watch Video Solution

105. /0054 xdx

o Watch Video Solution

106. /sin5 xdx

[ 8


https://dl.doubtnut.com/l/_oANwpzYxVq9p
https://dl.doubtnut.com/l/_uSpP6dyHiUiF
https://dl.doubtnut.com/l/_c85W3hs0hGSR
https://dl.doubtnut.com/l/_QCPHmojiY3rC

\ o Watch Video Solution

107. /cos7 xdx

o Watch Video Solution

108. /sin6 xdx

o Watch Video Solution

109. /cos z sin® zdx

[


https://dl.doubtnut.com/l/_QCPHmojiY3rC
https://dl.doubtnut.com/l/_t9LElYU80zvw
https://dl.doubtnut.com/l/_mOjcGzuai3MQ
https://dl.doubtnut.com/l/_nyZtfZvRVlSb

\ o Watch Video Solution

110. /sm 0% cos® zdzx

o Watch Video Solution

sin®
1M1. / dx
cosf

° Watch Video Solution

112. /:ot?’ x cos ecPzdzr



https://dl.doubtnut.com/l/_nyZtfZvRVlSb
https://dl.doubtnut.com/l/_61VsQXdwSkUk
https://dl.doubtnut.com/l/_gGgo4f3ROJBf
https://dl.doubtnut.com/l/_EWkPuntav6Vy

l ° Watch Video Solution

113. /sec30 x tan xdzx

° Watch Video Solution

114. /sm z sec* zdx

° Watch Video Solution

115. /sm z cos* zdx



https://dl.doubtnut.com/l/_EWkPuntav6Vy
https://dl.doubtnut.com/l/_8tEsqXBgsyqo
https://dl.doubtnut.com/l/_PACZwQ7bjH0G
https://dl.doubtnut.com/l/_saWQtWrPyedH

l ° Watch Video Solution

116. /sin 3z cos® zdzx

° Watch Video Solution

117. /:os 2z sin® zdx

° Watch Video Solution

118. /sm x cos’ zdx



https://dl.doubtnut.com/l/_saWQtWrPyedH
https://dl.doubtnut.com/l/_GqBQ5VwfXsP7
https://dl.doubtnut.com/l/_8OZftWY3ueXl
https://dl.doubtnut.com/l/_jjmWnHsyG3qn

l ° Watch Video Solution

119. /can5 0 sec* 0do

° Watch Video Solution

120. f:o’c4 0 cos ec*ddo

° Watch Video Solution

121. /Sec11 6 tan 6d6



https://dl.doubtnut.com/l/_jjmWnHsyG3qn
https://dl.doubtnut.com/l/_vDIAsB3nrIPj
https://dl.doubtnut.com/l/_OcMxsAKHEoVv
https://dl.doubtnut.com/l/_N77Vq7Xo6ei1

o Watch Video Solution

122. /:ot 0 cos ec’ 0df

o Watch Video Solution

123. /can3 6do

o Watch Video Solution

124. /cot4 0do



https://dl.doubtnut.com/l/_N77Vq7Xo6ei1
https://dl.doubtnut.com/l/_yIuXKl09y9eB
https://dl.doubtnut.com/l/_6oG0Eb5vCvOt
https://dl.doubtnut.com/l/_wLSOID9Ne6lc

o Watch Video Solution

125. fcan5 6do

o Watch Video Solution

126. f:otﬁ 0do

o Watch Video Solution

127. /sin axr — sinbx dx
CcoS axr — cos bx


https://dl.doubtnut.com/l/_wLSOID9Ne6lc
https://dl.doubtnut.com/l/_NQfPTGZT7hIm
https://dl.doubtnut.com/l/_zfA9q7a679i0
https://dl.doubtnut.com/l/_riiPBIcctkyx

° Watch Video Solution

COS px -+ COS gx
28. / P d dzx

sin pr + singz

° Watch Video Solution

129, /sin4:c — sin 2x du
COS T

° Watch Video Solution

sin 2x
130. / dzx
a

cos2z -+ bsin’z + ¢


https://dl.doubtnut.com/l/_riiPBIcctkyx
https://dl.doubtnut.com/l/_v7GkaQbodPqx
https://dl.doubtnut.com/l/_LbEh6AJItITz
https://dl.doubtnut.com/l/_scCGLDv8XeLV

° Watch Video Solution

dzx
V11 — 4z2

131. Integrate the following /

O Watch Video Solution

63.7:

132. Integrate the following /
V4 — ebrdy

o Watch Video Solution



https://dl.doubtnut.com/l/_scCGLDv8XeLV
https://dl.doubtnut.com/l/_pY4jmsboniZP
https://dl.doubtnut.com/l/_2pxgB9qHZrb7

133. Integrate the following /
V25— (@)’

° Watch Video Solution

0
134. Integrate the following / o do

4 — sin’ @

o Watch Video Solution

x2

135. Integrate the following / dr

/36 — 6

o Watch Video Solution



https://dl.doubtnut.com/l/_sZfvOMtnM9oB
https://dl.doubtnut.com/l/_XxVLTBk2fH32
https://dl.doubtnut.com/l/_fuF1f2bm0RwJ

: x+ 3
136. Integrate the following dz

V9 — z2

o Watch Video Solution

137. integrate the following'int(dx)/(sqrt(5-x"2-

4x))

o Watch Video Solution

. x+ 3
138. Integrate the following
b —x? — 4z

[ 1


https://dl.doubtnut.com/l/_fuF1f2bm0RwJ
https://dl.doubtnut.com/l/_NWimZkRHXnTj
https://dl.doubtnut.com/l/_YrTmj3C08TIi
https://dl.doubtnut.com/l/_icviFk55GlGb

I D Watch Video Solution

d
139. Integrate the following /—:c
3x2 4+ 7

o Watch Video Solution

4
dzx

140. Integrate the followin
8 g/e&"' + 4

° Watch Video Solution



https://dl.doubtnut.com/l/_icviFk55GlGb
https://dl.doubtnut.com/l/_FucYNKcGza6z
https://dl.doubtnut.com/l/_HU5ka2stBq85

141. Integrate the following

/ dx
x{(Inw)2 + 25}

o Watch Video Solution

, sectan 6
142. Integrate the following / do

sec2f + 4

o Watch Video Solution

143. Integrate the following

z” 10
/xzo n 4d:c(:1; = z)



https://dl.doubtnut.com/l/_hBLpTdp3eMLk
https://dl.doubtnut.com/l/_aTSeuS9Q2Hix
https://dl.doubtnut.com/l/_h7LQfoEV1t1k

° Watch Video Solution

144. Integrate the followin
8 & /::2 +4

° Watch Video Solution

d
145. Integrate the following / u
x2 + 6z + 13

o Watch Video Solution

, T+ 5
146. Integrate the followmg/ T
x2 + 6z + 13


https://dl.doubtnut.com/l/_h7LQfoEV1t1k
https://dl.doubtnut.com/l/_CrEONxv1aas0
https://dl.doubtnut.com/l/_z3Zv1wEhDgHR
https://dl.doubtnut.com/l/_0HIXCzoR2rwf

° Watch Video Solution

147. Integrate the following /
a:( 42 — 9

° Watch Video Solution

148. Integrate the following / dz
Velr — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_0HIXCzoR2rwf
https://dl.doubtnut.com/l/_ywDjN9Qmpex1
https://dl.doubtnut.com/l/_hrh2Z53azTAV

149. Integrate the
dx

:cInm\/(Inm)z —4

following

o Watch Video Solution

150. Integrate the

/ sec 6d6
sin0\/3tan2 0—1

following

o Watch Video Solution



https://dl.doubtnut.com/l/_qfuqGL8hkmPV
https://dl.doubtnut.com/l/_dOqeauAmVSWD

d
151. Integrate the following / ~
o/ 4 2

° Watch Video Solution

243
152.Integratethefollowing/ i dx

vV x2 —4

° Watch Video Solution

153. integrate the following

/ dx
(z +1)vz2 + 2z — 3

l o Watch Video Solution


https://dl.doubtnut.com/l/_Rx6twmxzjFil
https://dl.doubtnut.com/l/_lBeKNfHTXdou
https://dl.doubtnut.com/l/_Xxe7h5IfyOmS

154. Integrate the following
/ 2+ 2z + 4
(z +1)vVz2 + 2z — 3

o Watch Video Solution

dx
155. Integrate the following /
V3x2 + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_Xxe7h5IfyOmS
https://dl.doubtnut.com/l/_7YYo4KCoHPd1
https://dl.doubtnut.com/l/_FJHholmlkrst

156. Integrate the following

/(4\/3;67“>dw

o Watch Video Solution

dx

157. Integrate the following/ 5
zvInx + 8

° Watch Video Solution



https://dl.doubtnut.com/l/_fSdd6YOJC9et
https://dl.doubtnut.com/l/_21fCFkV21toX

158. Integrate the following

/ do
sin’ 9\/cot2 0+ 2

o Watch Video Solution

159. Integrate the following

T
/\/xﬁ + aldx

o Watch Video Solution

e*cos e*

160. integrate the following /
sin” e? _ 9dx

. l


https://dl.doubtnut.com/l/_1hgqCIt38SLr
https://dl.doubtnut.com/l/_ngHhJ1I0bYzM
https://dl.doubtnut.com/l/_SVNI2j4iQe30

L " Watch Video Solution J

161. Integrate the following
2z + 1
Va? + 10z + 29

o Watch Video Solution

dzx

162. Integrate the following / dj
Vidz® — 6

° Watch Video Solution



https://dl.doubtnut.com/l/_SVNI2j4iQe30
https://dl.doubtnut.com/l/_foao5bHQPBuK
https://dl.doubtnut.com/l/_A5h0wVRH053K

e5a:

velds — 4dx

163. integrate the following /(

o Watch Video Solution

d
164. Integrate the following / u
x\/(Ina:)z + 4
o Watch Video Solution
165. integrate the following

/ cos 0d0
sin® 0+/cos ec26 — 4

[ 1



https://dl.doubtnut.com/l/_fKgP8pJsC1ED
https://dl.doubtnut.com/l/_525oaufQla9b
https://dl.doubtnut.com/l/_0ypMSX9Qt7sB

I o Watch Video Solution

166. Integrate the following / dz

Vv — @

o Watch Video Solution

T — 2

v 3x2 — 8dx

167. Integrate the following

° Watch Video Solution

, 3r +4
168. Integrate the following dz

x\V2x2 — 5



https://dl.doubtnut.com/l/_0ypMSX9Qt7sB
https://dl.doubtnut.com/l/_vXONtIMzB5fQ
https://dl.doubtnut.com/l/_cyHYjyy3kXUG
https://dl.doubtnut.com/l/_90B0L8UA76RZ

° Watch Video Solution

242 2
169. Integrate the following /a: Ty dx

zvzx? — 4

o Watch Video Solution

: : dz
170. integrate the following /

vx? + 8z

° Watch Video Solution

171. integrate the following / zAT dx

Va2 + 8z



https://dl.doubtnut.com/l/_90B0L8UA76RZ
https://dl.doubtnut.com/l/_wAMqrJUWTo9A
https://dl.doubtnut.com/l/_HxZS8oIWsUzH
https://dl.doubtnut.com/l/_7ATSyrQsyOia

° Watch Video Solution

172. Evaluate the following:

/(1 + z)e®dx

o Watch Video Solution

173. Evaluate the following:

/:c?’ewd:v

° Watch Video Solution



https://dl.doubtnut.com/l/_7ATSyrQsyOia
https://dl.doubtnut.com/l/_pJ4fsEvTlITu
https://dl.doubtnut.com/l/_O6B4b233NJYn
https://dl.doubtnut.com/l/_G3w7oYvenDjE

174. Evaluate the following:

fv%awdm

o Watch Video Solution

175. Evaluate the following:

/(3:1: + 2)%e¥dg

° Watch Video Solution

176. fc sin zdx

| e


https://dl.doubtnut.com/l/_G3w7oYvenDjE
https://dl.doubtnut.com/l/_XKej8EAhup4W
https://dl.doubtnut.com/l/_NRbCCo4L2m41

& Watch Video Solution

177. /13 cos xdx

° Watch Video Solution

178. fv sinaxdx

° Watch Video Solution

179. [z cos® zdx

| =


https://dl.doubtnut.com/l/_NRbCCo4L2m41
https://dl.doubtnut.com/l/_toXzW425EUQb
https://dl.doubtnut.com/l/_m0FCabIkay6p
https://dl.doubtnut.com/l/_0mrzKgqvrWmy

I &9 Watch Video Solution

180. fn sin® zdz

o Watch Video Solution

181. /2:13 sin 2x cos xdx

o Watch Video Solution

182. fZ:c cos 3x cos 2xdx

| =


https://dl.doubtnut.com/l/_0mrzKgqvrWmy
https://dl.doubtnut.com/l/_2o6Ug5Sdwjp2
https://dl.doubtnut.com/l/_gktR80hFfDKk
https://dl.doubtnut.com/l/_HyXHGNQdxSYG

I &9 Watch Video Solution

183. [2z3cos zdzx

° Watch Video Solution

184. |z cos ec’zdzx

° Watch Video Solution

185. fc tan® zdz

| =


https://dl.doubtnut.com/l/_HyXHGNQdxSYG
https://dl.doubtnut.com/l/_eSvRAMTZ8QGd
https://dl.doubtnut.com/l/_tGflKPeGiuig
https://dl.doubtnut.com/l/_hEtg5OlqiZ8M

I &9 Watch Video Solution

186. fcln(l + z)dx

° Watch Video Solution

187. qunazda:

o Watch Video Solution

188. /(Ina:)3d:13

| =


https://dl.doubtnut.com/l/_hEtg5OlqiZ8M
https://dl.doubtnut.com/l/_ozn2mfIxmJbQ
https://dl.doubtnut.com/l/_iye194EGkqJc
https://dl.doubtnut.com/l/_zC86Tc5aBrr8

I 0 Watch Video Solution

189. /In(w2 + l)da:

o Watch Video Solution

190. /I'"’—"’3 dz

xrd

o Watch Video Solution

191.In(:1;2 +x + 2)da3

| =


https://dl.doubtnut.com/l/_zC86Tc5aBrr8
https://dl.doubtnut.com/l/_g0z9F77v1Jla
https://dl.doubtnut.com/l/_rSggAG1GbCkL
https://dl.doubtnut.com/l/_uDE0NdwqHbDP

I O Watch Video Solution

192. /In(a: + /x4 a2)da:

o Watch Video Solution

193. /In(a: +\/z? - a2)da:

o Watch Video Solution

194. /sin_1 rdx

| =


https://dl.doubtnut.com/l/_uDE0NdwqHbDP
https://dl.doubtnut.com/l/_mg2OwDmd34kj
https://dl.doubtnut.com/l/_NAGoi4Bfnla5
https://dl.doubtnut.com/l/_Cn5nBbN8os7j

I O Watch Video Solution

195. ﬁ: sin” ! zdx

o Watch Video Solution

196. /cos 1 rdx

o Watch Video Solution

197. fc tan” ! zdz

[ =


https://dl.doubtnut.com/l/_Cn5nBbN8os7j
https://dl.doubtnut.com/l/_n0DjUr8mzLUr
https://dl.doubtnut.com/l/_ObnR5tY3Pxfz
https://dl.doubtnut.com/l/_BBBBWZUcoCtW

I D Watch Video Solution

198. fvz tan ! zdz

° Watch Video Solution

199. /sec_1 xdx

° Watch Video Solution

200. /ac cos ec ‘zdx

[ =


https://dl.doubtnut.com/l/_BBBBWZUcoCtW
https://dl.doubtnut.com/l/_LRDrYZSqYkg7
https://dl.doubtnut.com/l/_TCLNn2fyVHFV
https://dl.doubtnut.com/l/_gOFt4FSeXDPR

I D Watch Video Solution

201. /63“3 cos 2xdzx

° Watch Video Solution

202. /eh sin zdx

° Watch Video Solution

203. /ea’ cos’ zdzx

[


https://dl.doubtnut.com/l/_gOFt4FSeXDPR
https://dl.doubtnut.com/l/_0mpp3iycEcBY
https://dl.doubtnut.com/l/_h8DXzNSC8Nya
https://dl.doubtnut.com/l/_N9LFrsmxv3zL

I D Watch Video Solution

2

204. |ze® sinzldx

° Watch Video Solution

205. /eax sin(bz + c¢)dx

° Watch Video Solution

206. /(2:62 + 1) e dz

[ =


https://dl.doubtnut.com/l/_N9LFrsmxv3zL
https://dl.doubtnut.com/l/_B3D8mjcoZNKK
https://dl.doubtnut.com/l/_tjyAo3WzPkA9
https://dl.doubtnut.com/l/_hXIkkxN0TpRz

I 0 Watch Video Solution

207. /\/9 — z?dx

° Watch Video Solution

208. /\/5 — 4z’dx

° Watch Video Solution

209. /\/1 — 2% — 2zdx (x+1=2)

[


https://dl.doubtnut.com/l/_hXIkkxN0TpRz
https://dl.doubtnut.com/l/_Nbz3gKcwcX4G
https://dl.doubtnut.com/l/_UKcBAfI23H6C
https://dl.doubtnut.com/l/_tlXZh6ejruMZ

I O Watch Video Solution

210. /ez\/4 — e%*dz

° Watch Video Solution

211. /cos 9\/5 — sin” 0df

° Watch Video Solution

212. /\/:132 + 4dz

[


https://dl.doubtnut.com/l/_tlXZh6ejruMZ
https://dl.doubtnut.com/l/_5RW5IMvXu6BK
https://dl.doubtnut.com/l/_bJq9fJRAcHQB
https://dl.doubtnut.com/l/_OdSKCTfbMbf6

I D Watch Video Solution

213. /\/7:1:2 + 2dz

° Watch Video Solution

214. /\/4:132 + 12z + 13dx (2x+3=2)

° Watch Video Solution

215. /zﬂz Ve + 6dz

[


https://dl.doubtnut.com/l/_OdSKCTfbMbf6
https://dl.doubtnut.com/l/_AqVONWJOyIfJ
https://dl.doubtnut.com/l/_CGCPfTxvOR7B
https://dl.doubtnut.com/l/_036xMwRvNEk0

I O Watch Video Solution

216. fsec2 0+/sec® 6 + 3d0

° Watch Video Solution

217. /(2:132 — 1) e d

° Watch Video Solution

218. /\/x2 — 8dx

[


https://dl.doubtnut.com/l/_036xMwRvNEk0
https://dl.doubtnut.com/l/_8XE1cN2sNh08
https://dl.doubtnut.com/l/_XhFOW09gLpPi
https://dl.doubtnut.com/l/_vW7nI5qKGOth

I o Watch Video Solution

219. / 322 — 2dz

o Watch Video Solution

220. /\/:c2 — 4x + 2dx

o Watch Video Solution

221. /a, a®? — 4dz

[


https://dl.doubtnut.com/l/_vW7nI5qKGOth
https://dl.doubtnut.com/l/_8ukLJ3RIP1BX
https://dl.doubtnut.com/l/_CJXL4xMIwx3e
https://dl.doubtnut.com/l/_DArO6pZpv3IX

I o Watch Video Solution

222, /sec@tan 9\/tan2 6 — 3d6

o Watch Video Solution

223. /9”6(‘5&11:1; + Insecx)dx

o Watch Video Solution

224, /9”6(00’5 x + Insinx)dx

[


https://dl.doubtnut.com/l/_DArO6pZpv3IX
https://dl.doubtnut.com/l/_KBb9qzQEQZVc
https://dl.doubtnut.com/l/_0P5ssemWo27w
https://dl.doubtnut.com/l/_xhLRHoFYQcPf

I o Watch Video Solution

225./ﬂ%7(1-+:rlnw)dw

o Watch Video Solution

xXr
226. / A
1 4+ x2

o Watch Video Solution

1 1
227. [| —— — > dx
Inz  (Ing)


https://dl.doubtnut.com/l/_xhLRHoFYQcPf
https://dl.doubtnut.com/l/_ECiuSJI1gP3B
https://dl.doubtnut.com/l/_ADBT4PuijmMJ
https://dl.doubtnut.com/l/_cRc18T11Ot9y

° Watch Video Solution

228. /sin([ ne)dx

° Watch Video Solution

229, /sin xIn(cos ecx — cot x)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_cRc18T11Ot9y
https://dl.doubtnut.com/l/_yaGmpnjrdhmJ
https://dl.doubtnut.com/l/_HfZSm1ushOSw

230. Evaluate the following integrals.
4r — 9
/ ad dz
r2 — b5x + 6
o Watch Video Solution
231. Evaluate the following integrals

/ 3x g
(z +4)(z + 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_OjdcrzdGKcQo
https://dl.doubtnut.com/l/_Vd5szZgGxXW7

232. Evaluate the following integrals
/ br — 12 q
T
(22 — 3)(x — 6)
o Watch Video Solution
233. Evaluate the following integrals

/ 20z + 3
dzx
6x2 — 1 — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_Q7sV4fvEmnZF
https://dl.doubtnut.com/l/_v5TTVlajSXu6

234. Evaluate the following integrals
212
/ dx
(z —1)(x — 2)(z — 3)
o Watch Video Solution
235. Evaluate the following integrals

dzx

/I2w4—2a:3—4a:2+:c—3
62 —x — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_lFKlUsIFXQQg
https://dl.doubtnut.com/l/_bc4sVgyYULei

236. Evaluate the following integrals
2z + 9

JEST

(z + 3)

o Watch Video Solution

237. Evaluate the following integrals

(z +2)°

2 —
/(5:1: —|—4zc+4) o dx

o Watch Video Solution



https://dl.doubtnut.com/l/_aJqTGlOHvGKR
https://dl.doubtnut.com/l/_f7FOq29UZgmJ

238. Evaluate the following integrals
/ z? + Tz + 4
dx
3+ 22 —x—1
o Watch Video Solution
239. Evaluate the following integrals

/3:1:2+2:c—1
dz
3+ 22 —x —1

° Watch Video Solution



https://dl.doubtnut.com/l/_EAk76aZVzOSL
https://dl.doubtnut.com/l/_dU2o9ClGC71r

240. Evaluate the following integrals
/ 4z —z +3
dx
(22 4+ 1)(z — 1)
o Watch Video Solution
241. Evaluate the following integrals

/ T g
(2?2 — 22 + 2)(x + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_IogOJyBdC2y5
https://dl.doubtnut.com/l/_HBxCiMhOZC2X

242. Evaluate the following integrals
3
dz
/333—1
o Watch Video Solution
243. Evaluate the following integrals

3 2
/ < dx
3 +1

o Watch Video Solution

244, Evaluate the following integrals /

dzx
x2 —5

l o


https://dl.doubtnut.com/l/_Xi0AdZiqBLf7
https://dl.doubtnut.com/l/_E6OabtE1pUa5
https://dl.doubtnut.com/l/_Losp3wce3SEP

\ o Watch Video Solution

245. Evaluate the following integrals
/ dx

202 4+ 8z + 7

o Watch Video Solution
246. Evaluate the following integrals

/ T + 3 g
XI
222 + 8x + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_Losp3wce3SEP
https://dl.doubtnut.com/l/_hZRrO6EZAXZN
https://dl.doubtnut.com/l/_1XMxODoiZwze
https://dl.doubtnut.com/l/_vHnhNchBWTxG

247. Evaluate the following integrals
/4;(;2 + 20z + 25
x
2% + 8z + 7
o Watch Video Solution
248. Evaluate the following integrals

ew
/ dx
e2x + 3er + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_vHnhNchBWTxG
https://dl.doubtnut.com/l/_u3T51lcIUtQY

249. Evaluate the following integrals

tan® @ + 1
/an - 10
tanZ6 — 1

o Watch Video Solution

d
250. Evaluate the following integrals /3 ad 5
— T

o Watch Video Solution

251. Evaluate the following integrals

/ dzx
7T — x2 + 6z



https://dl.doubtnut.com/l/_eizeB6R3CR5f
https://dl.doubtnut.com/l/_6GFvC4Ohqbpv
https://dl.doubtnut.com/l/_JqtEghKR1hdg

l ° Watch Video Solution

252, Evaluate the following integrals
T — D
/ dx
7— 2?2 + 6x
o Watch Video Solution
253. Evaluate the following integrals

/ cos 6 10
3 — sin’ @

o Watch Video Solution



https://dl.doubtnut.com/l/_JqtEghKR1hdg
https://dl.doubtnut.com/l/_s5OKKSnTFi15
https://dl.doubtnut.com/l/_5G4bf6K2ccm5
https://dl.doubtnut.com/l/_FkeomkS3FjcC

254, Evaluate the following integrals
d
Je)
(22 + 3)(x2 + 2)
o Watch Video Solution
255. Evaluate the following integrals

/ x3dx
xd 4+ 322 +2

o Watch Video Solution



https://dl.doubtnut.com/l/_FkeomkS3FjcC
https://dl.doubtnut.com/l/_3Hz5OayXSXwt

256. Evaluate the following

/ dx
. put cosx=z
sinz(3 + 2cos x)

integrals

O Watch Video Solution

dx

NorEe
257./ Tt

L

o Watch Video Solution

N/ 12 —
258./ xw [

[ o Watch Video Solution


https://dl.doubtnut.com/l/_18z1OKOnI4R8
https://dl.doubtnut.com/l/_dUQSLueCWysg
https://dl.doubtnut.com/l/_5pilpl3vSUXa

Jz

T + 2

259. dx

° Watch Video Solution

260./:13(3:13 +2)3de

° Watch Video Solution



https://dl.doubtnut.com/l/_5pilpl3vSUXa
https://dl.doubtnut.com/l/_rzxegZeSrqIL
https://dl.doubtnut.com/l/_Jh3vMFbAHp9U
https://dl.doubtnut.com/l/_BRTR10BRwR4F

| ¥ Watch Video Solution

262./(33 + 2)(z + 1)%d:13

o Watch Video Solution

1
263./ ;¥
(x4 2)¢

° Watch Video Solution

264./\Fd_w€/5(x:t6)

f _


https://dl.doubtnut.com/l/_BRTR10BRwR4F
https://dl.doubtnut.com/l/_7TY3gwdVsGlG
https://dl.doubtnut.com/l/_9aDCkCou01mY
https://dl.doubtnut.com/l/_pQjh21eOciOU

\ o Watch Video Solution

265/3a:+4 q
. T
V2x — 3

° Watch Video Solution

266./(7:1: + 4),/3z + 2dz

° Watch Video Solution

267./(3m + 1) (2 — 2)2de



https://dl.doubtnut.com/l/_pQjh21eOciOU
https://dl.doubtnut.com/l/_wqvv0XuVDlXO
https://dl.doubtnut.com/l/_nSL2xszQRH8j
https://dl.doubtnut.com/l/_NBcLQhOFbo3F

\ ° Watch Video Solution

2 5
68/ Tt 7d:13
(x4 2)2

o Watch Video Solution

2 4 9 11
269, [T T4,

v+ 4

° Watch Video Solution

270. /(:c2 + 2z + 7)\/:1: + 1dx


https://dl.doubtnut.com/l/_NBcLQhOFbo3F
https://dl.doubtnut.com/l/_6LU5kFO3Dwrr
https://dl.doubtnut.com/l/_U7Yvmi87Y9xz
https://dl.doubtnut.com/l/_jnq4B5XGMlIJ

° Watch Video Solution

271. / dz
VAx? — 4z + 5

° Watch Video Solution

272. /\/4:132 — 4z + bdx

° Watch Video Solution

dzx
273./
V2 — 6z + 5


https://dl.doubtnut.com/l/_jnq4B5XGMlIJ
https://dl.doubtnut.com/l/_6fPAdhrAJ8w7
https://dl.doubtnut.com/l/_h1vf3LaYcHEw
https://dl.doubtnut.com/l/_OyC2XtjE05W6

° Watch Video Solution

274. /\/xz — 6z + bdzx

° Watch Video Solution

dx
275./
V1+ 2x — 22

° Watch Video Solution

276. /\/1 + 2z — 2%dx


https://dl.doubtnut.com/l/_OyC2XtjE05W6
https://dl.doubtnut.com/l/_WN8j82er7wsn
https://dl.doubtnut.com/l/_0KdM40tGpF4y
https://dl.doubtnut.com/l/_M77T8t10KZb7

° Watch Video Solution

277./(1+w;ijm (1—|—ac = %)

O Watch Video Solution

dx
278./
(2 —z)v/b — 4z + x?

° Watch Video Solution



https://dl.doubtnut.com/l/_M77T8t10KZb7
https://dl.doubtnut.com/l/_8nTLNQmlgz6O
https://dl.doubtnut.com/l/_KdR1WpWBfHb3

279./ dz
(22 + 5)v/x + 2

° Watch Video Solution

1+ 2

dzx
zvrt +1

280.

° Watch Video Solution

281. /(a2 ~ ) (2 bz)da:

O Watch Video Solution



https://dl.doubtnut.com/l/_tPpPi6glTbYP
https://dl.doubtnut.com/l/_Stn5qglsRHq5
https://dl.doubtnut.com/l/_uhQAqTmMLnxe

282. Evaluate the following integrals
/ dx

4+ 5cosx

o Watch Video Solution
283. Evaluate the following integrals

dzx
3+ cosx

° Watch Video Solution



https://dl.doubtnut.com/l/_Gd7fX6yccSnU
https://dl.doubtnut.com/l/_uA4swraeN9mT

284. Evaluate the following integrals

/ dzx
3+ sinx

o Watch Video Solution

285. Evaluate the followig integreals

dzx
1+ 2sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_FHjdhZELEY7J
https://dl.doubtnut.com/l/_UURXUjJOHMw2

286. Evaluate the following integrals
/ dx

(2sinz + 3cos :1:)2

o Watch Video Solution
287. Evaluate the following integrals

/ dz
1+ cosxz + sinzx

° Watch Video Solution



https://dl.doubtnut.com/l/_MCoHyCwbZIzo
https://dl.doubtnut.com/l/_GhWKGz70mhCe

288. Evaluate the following integrals
sinx + 28cos T
. dx
osinx + 6cos
° Watch Video Solution
289. Evaluate the following integrals

/12sin:c — 2cosx + 3
T

sinx + cosx

o Watch Video Solution



https://dl.doubtnut.com/l/_bZ9LCFLyho8W
https://dl.doubtnut.com/l/_y8FBqEqpXDdX

290. Evaluate the following integrals
dsine
/3—23111:13da3

o Watch Video Solution

291. Evaluate the following

integrals’int(2cosx+7)/(4-sinx)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_8dfk90M5uf4K
https://dl.doubtnut.com/l/_4Z3RV6Uaf92n

292. Evaluate the following integrals
/ dx

2cos?x + 3cosx

o Watch Video Solution
293. Evaluate the following integrals

/ dx
4sin’z — sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_GEEJ6HDerUIm
https://dl.doubtnut.com/l/_T5dcwD1gXH3F

294. Evaluate the following integrals
sin & cos T
/ > dz
xsin“x — 2sinx + 3
° Watch Video Solution
295. Evaluate the following integrals

dx
COS £ — COS 3x

o Watch Video Solution



https://dl.doubtnut.com/l/_UuPPcpfvosTS
https://dl.doubtnut.com/l/_hEUJWEpgIC3Q

296. Evaluate the following integrals
/ do

4 + 3sin® @

o Watch Video Solution

297. Evalaute the following integrals

/ do
2 — 3cos? 6

o Watch Video Solution



https://dl.doubtnut.com/l/_f6F0RlLlkzRG
https://dl.doubtnut.com/l/_fHbkOfyDYS5b

298. Evaluate the following integrals
/ do

4cos? @ + 9sin® 0

o Watch Video Solution
299. Evaluate the following integrals

/ dé
2+ 3cos26 — 4sin’ 6

° Watch Video Solution



https://dl.doubtnut.com/l/_HX2adJcSGMR7
https://dl.doubtnut.com/l/_bOiH91T0pwuw

300. Evaluate the following integrals
sin 3z

/ dx

cos 7z cos 4z

o Watch Video Solution

301. Evaluate the following integrals

/ Cos 2x
, dx
sin 7x cos dx

o Watch Video Solution



https://dl.doubtnut.com/l/_hiI8KRalBdsr
https://dl.doubtnut.com/l/_bAZUf6LwqqIP

302. Evaluate the following integrals
/ dx

cos (b + 3cosx)

o Watch Video Solution
303. Evaluate the following integrals

/ dx
cosz + (1 + 2sinx)

o Watch Video Solution

3
304.I=/ 5z2dz
1


https://dl.doubtnut.com/l/_CWFEOFLNyuS1
https://dl.doubtnut.com/l/_3cSEDuTdjvLX
https://dl.doubtnut.com/l/_nxVFx57V2cVC

° Watch Video Solution

1
305.[2/ e‘dx
~1

o Watch Video Solution

6
306.I:/ xdx
0

o Watch Video Solution

4
307.I:/ (a:2—|—2:r;—|—4)dzc
0


https://dl.doubtnut.com/l/_nxVFx57V2cVC
https://dl.doubtnut.com/l/_3s8A2bU11WHf
https://dl.doubtnut.com/l/_weBC4x1U5TPN
https://dl.doubtnut.com/l/_L1P4BTW17Pu8

° Watch Video Solution

3

308. Evaluate the following integrals / ztde
—2

o Watch Video Solution

1
309. Evaluate the following integrals/ z3de
0

o Watch Video Solution



https://dl.doubtnut.com/l/_L1P4BTW17Pu8
https://dl.doubtnut.com/l/_ujfmZJPEh01r
https://dl.doubtnut.com/l/_18InEZ6y0UIr

310. Evaluate the following integrals
4
d
/ 22 \dz
1 \Vz
o Watch Video Solution
311. Evaluate the following integrals

[ ()

o Watch Video Solution



https://dl.doubtnut.com/l/_lTnhurMzN4qu
https://dl.doubtnut.com/l/_I9jsuqiWOmgi

312. Evaluate the following integrals
: 1 1
1 T3 £
o Watch Video Solution
313. Evaluate the following integrals

/2 (22 +1)(z — 2)da

1

o Watch Video Solution



https://dl.doubtnut.com/l/_jKu5JuBK4Dfs
https://dl.doubtnut.com/l/_joynoch4oAZv

314. Evaluate the following integrals
1

/ (2z + 1)*

0

o Watch Video Solution

315. Evaluate the following integrals

1
/ 337(1 + ws)%dw
0

o Watch Video Solution



https://dl.doubtnut.com/l/_m7pleQkxAcxi
https://dl.doubtnut.com/l/_Y98o3G1pmFag

316. Evaluate the following integrals
Y22 -3z +5
dx
1 NZY
o Watch Video Solution
317. Evaluate the following integrals

dx

/(:c + 21/(;2 +3)

o Watch Video Solution



https://dl.doubtnut.com/l/_7vaipMtagmWm
https://dl.doubtnut.com/l/_hMdZJKmqPnrZ

318. Evaluate the following integrals
/ (cosz — sinz)dz

0

° Watch Video Solution
319. Evaluate the following integrals

/ : cos 2xdzx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_XPPQXW5PBV2h
https://dl.doubtnut.com/l/_9tAjOQ4tHcaf

320. Evaluate the following integrals
0 2
tan® rdx
0
° Watch Video Solution
321. Evaluate the following integrals

/Oﬂ3sin(%>cos(§)dw

o Watch Video Solution



https://dl.doubtnut.com/l/_4oTm2SQqSbUw
https://dl.doubtnut.com/l/_XkdQsAITu0uG

322. Evaluate the following integrals
o

/ sin 2x cos xdx

0

° Watch Video Solution

323. Evaluate the following integrals

3 1—|—cos2md
= 1 — cos2x v
6

° Watch Video Solution



https://dl.doubtnut.com/l/_Vodtb2bXmq4D
https://dl.doubtnut.com/l/_7XE7xH2i4sOY

324. Evaluate the following integrals

s
2

cot xdx

i

o Watch Video Solution

325. Evaluate the following integrals

i 2 .3
cos” 2z sin® 4dxdx
0

° Watch Video Solution



https://dl.doubtnut.com/l/_JfVBHLCugebC
https://dl.doubtnut.com/l/_npZJkLhIc2Mb

326. Evaluate the following integrals
2

/e4m+1dw

1

o Watch Video Solution

327. Evaluate the following integrals

/12 (3m+2)dw

o Watch Video Solution



https://dl.doubtnut.com/l/_8oM1kQNuw8D7
https://dl.doubtnut.com/l/_3vp6yJfzAO1c

328. Evaluate the following integrals
1

/cosh2:cda:

0

o Watch Video Solution

329. Evaluate the following integrals

1 _
e’ —e md

o Watch Video Solution

V3 dx
330. / dzx
0 1 + 332


https://dl.doubtnut.com/l/_4WwgAzWMYdxd
https://dl.doubtnut.com/l/_4iB4CFcnxPWS
https://dl.doubtnut.com/l/_5WoDmo0fn6aW

° Watch Video Solution

1 dzx
331./
0 1 — x22dx

o Watch Video Solution

%33

wf

° Watch Video Solution



https://dl.doubtnut.com/l/_5WoDmo0fn6aW
https://dl.doubtnut.com/l/_IhQlqahlPt2D
https://dl.doubtnut.com/l/_W75LOY0HTYFR

333. Evaluate the following

2
3
/ r2e® dz
0

integrals

o Watch Video Solution

In2
n dz

dx
0 verx —1

334.

° Watch Video Solution

335/1 dz
.0 333"‘2

l ° Watch Video Solution


https://dl.doubtnut.com/l/_F2rZVnXiJVuL
https://dl.doubtnut.com/l/_pSVvPCg2TJUA
https://dl.doubtnut.com/l/_4cV8wM3FhMVF

4
336. / dz
0 vVaZ+9

° Watch Video Solution

3 dx
337.
2 x2 —2

o Watch Video Solution

4
338./ Vi 49
0

f


https://dl.doubtnut.com/l/_4cV8wM3FhMVF
https://dl.doubtnut.com/l/_sbSUME1CTIuS
https://dl.doubtnut.com/l/_l5eQjSHb9Hq2
https://dl.doubtnut.com/l/_HZDAezb4ifez

o Watch Video Solution

339./_2((|:c|) + 2)da

° Watch Video Solution

340. /2 ’ elde

o Watch Video Solution

3

341./2 2z]dx
0


https://dl.doubtnut.com/l/_HZDAezb4ifez
https://dl.doubtnut.com/l/_NFgi4HhjL2nJ
https://dl.doubtnut.com/l/_meUKCTFCTPrK
https://dl.doubtnut.com/l/_djFCo5pbOp0c

° Watch Video Solution

2
342. / [mﬂ dx
0

o Watch Video Solution

3
343./ e’ (x + 1)dx
1

o Watch Video Solution

N

344./ T sinxdx
0


https://dl.doubtnut.com/l/_djFCo5pbOp0c
https://dl.doubtnut.com/l/_LW104fh2dgro
https://dl.doubtnut.com/l/_wO5RKSJXDATs
https://dl.doubtnut.com/l/_WgZ6wkAZW9c8

° Watch Video Solution

2
345, / x logxdzx
1

o Watch Video Solution

1
346./ rtan ! zdz
0

o Watch Video Solution

1
347. / zdz
o (2z+1)(z+1)



https://dl.doubtnut.com/l/_WgZ6wkAZW9c8
https://dl.doubtnut.com/l/_ZUplxkMz8TLI
https://dl.doubtnut.com/l/_j1wRBSU6TZRK
https://dl.doubtnut.com/l/_ZzL3P0TBS4CZ

° Watch Video Solution

cos xdx

[N B

348./
o (sinx + 1)(sinz + 2)

o Watch Video Solution

349, / 2 e” cos rdzx
0

° Watch Video Solution



https://dl.doubtnut.com/l/_ZzL3P0TBS4CZ
https://dl.doubtnut.com/l/_CHHKqz6b98u0
https://dl.doubtnut.com/l/_VaxtsONjAIir

2 1
350. / : dz
0 1+ tanzx

o Watch Video Solution

™

Vsin g
T
0 +/sinx + y/cosx

351.

o Watch Video Solution

L In(1 +
352./ n(1+ o) dz(xz = tanb)
0 1+ z2

° Watch Video Solution



https://dl.doubtnut.com/l/_nJQqvdNu0QKP
https://dl.doubtnut.com/l/_uv8L2CBmws7t
https://dl.doubtnut.com/l/_a9JWpTPWPwiv

353, / zdz
o 1l+sinz

° Watch Video Solution

354, / ridz

° Watch Video Solution

355./ (a:5 + 222 + :c)da:

° Watch Video Solution



https://dl.doubtnut.com/l/_a9JWpTPWPwiv
https://dl.doubtnut.com/l/_G7c60BbhDMq4
https://dl.doubtnut.com/l/_NZ9xqDDvX9d6
https://dl.doubtnut.com/l/_FUlml0MlzMi5

N B

356. / cos’ zdzx

N

o Watch Video Solution

K

6 5
357. / sin® xdx

T
6

° Watch Video Solution

358. / cos® zdzx
0

[ o Watch Video Solution


https://dl.doubtnut.com/l/_FUlml0MlzMi5
https://dl.doubtnut.com/l/_i1alHSLi152A
https://dl.doubtnut.com/l/_dmlzTfbpxKae
https://dl.doubtnut.com/l/_jZmzunwZxQ20

359. / cos’ zdzx
0

o Watch Video Solution

s
360. / sin® z cos zdzx
0

° Watch Video Solution

361./ cos? z sin zdx
0

l a Watch Video Solution


https://dl.doubtnut.com/l/_jZmzunwZxQ20
https://dl.doubtnut.com/l/_us2HUpmuo9jv
https://dl.doubtnut.com/l/_Z1rATkrCPDqF
https://dl.doubtnut.com/l/_MJzy7ZsiDyJ8

362. Show that

L Inz T 1

de = —In—

0 V1 —x2 2 2

O Watch Video Solution

363. Show that

2 cosx — sinx
der =0
0

1+ sinxzcosx

o Watch Video Solution



https://dl.doubtnut.com/l/_MJzy7ZsiDyJ8
https://dl.doubtnut.com/l/_hiG3yOvtwB5Z
https://dl.doubtnut.com/l/_PyM3gtFkWtME
https://dl.doubtnut.com/l/_rpyoacBgB41m

364. Show that

/F Insing — ™= Ind
0$n81n$—2n2

° Watch Video Solution

s

365. / : In(tanz + cot x)dx
0

° Watch Video Solution

/” ( rtanzx )
366. dx
0 secr + tanx

° Watch Video Solution



https://dl.doubtnut.com/l/_rpyoacBgB41m
https://dl.doubtnut.com/l/_q85aTT7Mm5OO
https://dl.doubtnut.com/l/_Zepsf1JYiypV

3 Vzdz

° Watch Video Solution

368, / T sin zdx
1+ cos? x

o Watch Video Solution

1
369./ z(1— z)'""dz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_Zepsf1JYiypV
https://dl.doubtnut.com/l/_7fm9xLTnxOOA
https://dl.doubtnut.com/l/_Jba5jul6untM
https://dl.doubtnut.com/l/_ZrGzKGpK7URs

w/3
370./ d
/6 1+ 4/cotx

° Watch Video Solution

50
371. Integrate the following / e* 12l dy
0

° Watch Video Solution

™

372. / " sin'® 940
0

| N


https://dl.doubtnut.com/l/_ZrGzKGpK7URs
https://dl.doubtnut.com/l/_jH7pPAnsrOMe
https://dl.doubtnut.com/l/_j2SOFfpBCsQf
https://dl.doubtnut.com/l/_j1sHA46iqUqo

| ¥ Watch Video Solution

s

373. Integrate the following / " cos!? 0do
0

° Watch Video Solution

™

374. / 2 sin'! 0d6
0

o Watch Video Solution

™

375. / 2 cos’ 6d6
0



https://dl.doubtnut.com/l/_j1sHA46iqUqo
https://dl.doubtnut.com/l/_etOojyW9JKYU
https://dl.doubtnut.com/l/_rhb0ojBmdvAg
https://dl.doubtnut.com/l/_ch2FRsdVXLh3

\ o Watch Video Solution

1 7
376. Integrate the following / o dz
0 /1 — x2

° Watch Video Solution

1 5135 (4 L 5132)
377./ dx
0 41— x2

° Watch Video Solution

378./ 3 (a2 — m2)%dw
0


https://dl.doubtnut.com/l/_ch2FRsdVXLh3
https://dl.doubtnut.com/l/_c0qV048O6Jzf
https://dl.doubtnut.com/l/_EK9YBWVG7zDP
https://dl.doubtnut.com/l/_2tJitdcmFKDP

° Watch Video Solution

1
1 2
379./ 2% | T e
0 1—:1;2

o Watch Video Solution

o0 CC2
380./ ndaz
o (1+ %)

o Watch Video Solution



https://dl.doubtnut.com/l/_2tJitdcmFKDP
https://dl.doubtnut.com/l/_pJb3bpuq2hrW
https://dl.doubtnut.com/l/_rWn6tmMVrxsG

381. / sin® 0d0
0

° Watch Video Solution

382. /\/1 — sin2zdz

° Watch Video Solution

dx
1+ sinx

383.

° Watch Video Solution



https://dl.doubtnut.com/l/_c0mR4fZ9aEHG
https://dl.doubtnut.com/l/_r7n6p6YtTrrY
https://dl.doubtnut.com/l/_RkSTgPXcJyw7

sinx
384. _ dx
1+ sinx

o Watch Video Solution

385, / ST s
secx + tanx

o Watch Video Solution

386. /1 s
1 —sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_8tZfmmRdeiyd
https://dl.doubtnut.com/l/_mg8feKO9OrFL
https://dl.doubtnut.com/l/_ZbfKpLE8KChi

387. /can_l(seczc + tanz)dz

o Watch Video Solution

dzx

COS 21 — Cos 2a
88.
COST — COS &

o Watch Video Solution

1 [1—cos2z
389. [tan dx
1 + cos 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_M7Fp3cHHHTx2
https://dl.doubtnut.com/l/_6EyZUwKJhd16
https://dl.doubtnut.com/l/_y9fJWtjYWkyG

390/ dz
VI 1+Vz+2

° Watch Video Solution

+ 3x
391. d
/§ — 2z v

° Watch Video Solution

dx
VT +

392.

o Watch Video Solution



https://dl.doubtnut.com/l/_l4hipl8Mim6d
https://dl.doubtnut.com/l/_9K1oE6IwBeuv
https://dl.doubtnut.com/l/_DJnv4CExohgn

303, / dz
1+ tanx

o Watch Video Solution

T+ ve +1
dx

T + 2

394.

° Watch Video Solution

395./Si11_11/ < dr =
a-+x

o Watch Video Solution



https://dl.doubtnut.com/l/_rFwIpCFoYKLP
https://dl.doubtnut.com/l/_r15hCRVK2Lvq
https://dl.doubtnut.com/l/_ToLPsdUe9zTD

2+ sin2
396. /93” s
1 + cos 2z

° Watch Video Solution

2 1) eZ
397./(:13 il )e dx

(z +1)°

o Watch Video Solution

2
398./ 1l
xt + 22 + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_tO1ZvfzkVOdt
https://dl.doubtnut.com/l/_djXFPhvbCR1r
https://dl.doubtnut.com/l/_KJd5vMiHCpKi

/ x2dz
399,
xt + 22 4+1

o Watch Video Solution

400. /\/ cot xdx

o Watch Video Solution

401. /(\/m + y/cot z)dz

o Watch Video Solution



https://dl.doubtnut.com/l/_3wVcPlIxZ3z7
https://dl.doubtnut.com/l/_qDuzaM1LyQ0h
https://dl.doubtnut.com/l/_9ZLAsyZYQPcD

402, / da
z(z* + 1)

o Watch Video Solution

/ dx
403.
e? —1

o Watch Video Solution

z—1)(x —2)(z — 3)
404‘/2.7; ) (z —5)(z — 6)

dzx

o Watch Video Solution



https://dl.doubtnut.com/l/_jxcZy1mab6iu
https://dl.doubtnut.com/l/_2pKfNVRQhZcN
https://dl.doubtnut.com/l/_kIOvx3hIorbT

405. / dz 2
(e — 1)

° Watch Video Solution

d
406. Integrate the following/. ad 5
sin x cos® x

° Watch Video Solution

407./ S d
sV atx

o Watch Video Solution



https://dl.doubtnut.com/l/_APTzkRoQAIbD
https://dl.doubtnut.com/l/_7rPb77HLRZzn
https://dl.doubtnut.com/l/_6qyZ5dGMwIly

/2
408./ (vtanz + y/cotz)dz
0

o Watch Video Solution

1
409./ (1l — z)"dx
0

° Watch Video Solution

3
410./ sin 2z log(tan x)dx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_jUB9hRELQobU
https://dl.doubtnut.com/l/_YyInNszW9Bmv
https://dl.doubtnut.com/l/_HcbCiZrGzqq0

sinx + cosx

4"./5 sin® zdz
0

o Watch Video Solution

a2 [ 7=
"J, sinz + cosz

o Watch Video Solution

2T

e
413. Prove that/ z sin® zdx = ( 3
0

o Watch Video Solution



https://dl.doubtnut.com/l/_gFcX4c1KXgCc
https://dl.doubtnut.com/l/_6fEe32yG5Xyo
https://dl.doubtnut.com/l/_alsqbjV8nW60

414./3120 sin xdx

sinx + cos
5

° Watch Video Solution

™
415. / |cos x|dx
0

o Watch Video Solution

4
416./ lz — 1| + |z — 2| + |z — 3|dz
1

° Watch Video Solution



https://dl.doubtnut.com/l/_9DwXCxKc4kFZ
https://dl.doubtnut.com/l/_hqVEcrMiHcl8
https://dl.doubtnut.com/l/_JhbgmitgG5h1

U

417./2 (sin|z| + cos|z|)dz

x
2

° Watch Video Solution

418./ log(1 + cos z)dx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_9GXh0f3do7ta
https://dl.doubtnut.com/l/_WB5PZzfP7nn8

